TH2FEE PTARE RESE

| A R (6 A)
7 B FHE RELE IR L
B £ E BB 2 1,041,879 1,041,879 O|FTEEM S DBIE
® & I A 4584,000] 4,586,800 2,800
H '] A 320,000 154,450 A 165,550
&t 5945879 5783129 A 162,750
X W DB (B4 [)
i 5] FHEE REEE % %8 3
& ) & 278,000 312,859 A 34,859
= E B 80,000 ] 80,000/iE8-FF-E77Ov /ML S L HRE
HOE B B 80000 205279| A 125270 EEAWARS
] = & 52,000 39,600 12,400[A— LS R T LFIAME .
- 66000  67.980] A 1980|F k- ELF 80K
— & = B B 2,030,000| 1,164,023 865,977
EEZTE£E 300,000 167,827 132,173| & EEBLETHRES
B AN & & B 880,000 305,696 574,304
= ® = 750,000 690,500 58,500 PTAS K- &S
T = - 70,000 (i} 70,000|
| &t - m 3 = 0 0 0 I
;] B & 30,000 0 30,000
£ O &8 w B 1,730,000 1,208,353 521,647
2 & - 430,000 427,600 2,400
EXEE: B 1,050,000 521,270 528,730| BB EBN T HRRBE S
&® = & 0 0 0 -
E2 ™ B 0 0 Ol BB EE AR
B E xR 250,000( 259,483 A 9,483| EIEBAR .
7 18 & 240,000 238,900 1,100| FFiIEEFRPTAR SRS %
BEE-EX ol 1,000,000 1,000,000 0
B 1% & 667,879 940,500 A 272,621
H 5,945,879 4,864,635 1,081,244
(B4 M)
f B E 0N UIRARERE | THIREEE| Z517%%8 i) £
5,783,129| 4,864,635 918,494

SH2EE PTARSESERISR REE
Uz A ) i (Bfr M)
# B FEEE REEE %
B OE E B B % 6,600,515 6,600,515 0 |[FTEEMLDREBESE
| A & 1,000,000 | 1,000,000 0
it 7,600,515 7,600,515 0
b2 tH ) i (B4 1)
(23 E] FHE REE % 8 w =
8 i & 7,600,000 7,600,000 0
it 7,600,000 7,600,000 0
(B M)
£ B E O B IRAGREEE | XHREE | ZE5I%E il =
" 7,600,515 | 7,600,000 515
SH2EE KRR IIERTSEPRPTARE . PTARSEEWEISXFHIOVT., LEEDEBYERE
W=LET,
SM3E4A 248 . 5
KRFAEHSFERPTASE /(> k
‘a’ Ir\ _Af..(_
LREEDHER. BEICHITLTWSILZREHET,




